166.62mm (6.56")

LENS:HARDENED GLASS

BOLT : SUS304 M8*50

NUT : SUS304 M8 SPRING-WASHER/NYLON

BODY : NYLON GLASS13% BLACK

COVER : NYLON GLASS13% BLACK

139.35mm { 5.25")

*STICKER
SERIAL NO : WK0801-0000

— I

BRACKET : SUS304 t=3.0

*STICKER
HID 5500 35W
9-32VOLTDC

BOLT : SUS304 M10#*25
NUT : SUS304 M10 SPRING-WASHER/NYLON
WASHER : SUS304 M10#21

PROTECTIVE TUBE:POLYVINYL @6mm (.24")

i

R g SPECIFICATION POWER LEAD WIRE : AVSS 2.0 (AWG #12)
5 ~POSITIVE:RED
,ﬂ, \1\\ 1.0PERATING VOLTAGE :9-32 VOLT DC ~GROUND:BLACK
Vs SO 2.BALLAST : 35 WATTHID
: 3 3.LAMP : 35W / 5000K+500 &
z = [HIID) - 4.REFLECTOR : PRESS / VACUUM METALIZED
- 5.LENS : HARDENED GLASS
im ra— | 6. WEIGHT : 790g{1.74lbs ) w
s T e ETIA :QA‘SGRJS Global Lightiisc
D -\ /@ 8 WEATHER PROOF & DUST RESISTANT
9. TEMPERATURE : -40C~85T
10.LIFE : 2,000Hrs
11.1P RATING : IP60
M UNIT mm  |DRAWING| CHECK | APPROVAL
— SCALE
TITLE 5500
NON SLIP PAD T ET T
[VX] Vision X v VX-TS-5500

© Vision Motor Sports, inc. All Rights Reserved.




